WVO calculations of Q2 - xBj surface at each value of pm multiplied by P(Q2,xBj) from 2.6r data in file
wvoCalcsWeighted2.6r.pdf.

Note: Scales can change from row to row (but not within a row).

pPm=0.02 GeV/c pPm=0.04 GeV/c

pPm=0.14 GeV/c pPm=0.16 GeV/c pPm=0.18 GeV/c




pPm=0.2 GeV/c m=0.22 GeV/c m=0.24 GeV/c

pPm=0.26 GeV/c pPm=0.28 GeV/c pPm=0.3 GeV/c

pPm=0.32 GeV/c pPm=0.34 GeV/c pPm=0.36 GeV/c




pPm=0.38 GeV/c pPm=0.4 GeV/c pPm=0.42 GeV/c

pPm=0.44 GeV/c pPm=0.46 GeV/c pPm=0.48 GeV/c

pPm=0.5 GeV/c pPm=0.52 GeV/c pPm=0.54 GeV/c




pPm=0.56 GeV/c pPm=0.58 GeV/c pPm=0.6 GeV/c

pPm=0.62 GeV/c pPm=0.64 GeV/c pPm=0.66 GeV/c

pPm=0.68 GeV/c pPm=0.7 GeV/c pPm=0.72 GeV/c




m=0.74 GeV/c

m=0.76 GeV/c

m=0.78 GeV/c




